

## Mad Maths Minutes

Adding/Subtracting Fractions (Same Denominator) Set A

$$\frac{1}{5} + \frac{3}{5} = \boxed{\phantom{00}}$$

$$\frac{5}{7} - \frac{3}{7} = \boxed{\phantom{00}}$$

$$\frac{3}{6} - \frac{2}{6} = \boxed{\phantom{00}}$$

$$\frac{3}{7} + \frac{2}{7} = \boxed{\phantom{00}}$$

$$\frac{1}{8} + \frac{5}{8} = \boxed{\phantom{00}}$$

$$\frac{6}{6} - \frac{5}{6} = \boxed{\phantom{00}}$$

$$\frac{3}{4} - \frac{1}{4} = \boxed{\phantom{00}}$$

$$\frac{6}{8} + \frac{1}{8} = \boxed{\phantom{00}}$$

$$\frac{2}{5} + \frac{3}{5} = \boxed{\phantom{00}}$$

$$\frac{5}{8} - \frac{4}{8} = \boxed{\phantom{00}}$$

$$\frac{8}{8} - \frac{6}{8} = \boxed{\phantom{00}}$$

$$\frac{4}{7} + \frac{1}{7} = \boxed{\phantom{00}}$$

$$\frac{1}{7} + \frac{3}{7} = \boxed{\phantom{00}}$$

$$\frac{5}{6} - \frac{2}{6} = \boxed{\phantom{00}}$$

$$\frac{4}{6} - \frac{1}{6} = \boxed{\phantom{00}}$$

$$\frac{4}{8} + \frac{2}{8} = \boxed{\phantom{00}}$$

$$\frac{1}{4} + \frac{2}{4} = \boxed{\phantom{00}}$$

$$\frac{5}{6} - \frac{3}{6} = \boxed{\phantom{00}}$$

## Mad Maths Minutes

Adding/Subtracting Fractions (Same Denominator) Set B

$$\frac{1}{2} + \frac{1}{2} = \boxed{\phantom{00}}$$

$$\frac{4}{5} - \frac{2}{5} = \boxed{\phantom{00}}$$

$$\frac{3}{8} - \frac{1}{8} = \boxed{\phantom{00}}$$

$$\frac{2}{8} + \frac{3}{8} = \boxed{\phantom{00}}$$

$$\frac{2}{5} + \frac{2}{5} = \boxed{\phantom{00}}$$

$$\frac{6}{8} - \frac{3}{8} = \boxed{\phantom{00}}$$

$$\frac{4}{5} - \frac{1}{5} = \boxed{\phantom{00}}$$

$$\frac{1}{3} + \frac{1}{3} = \boxed{\phantom{00}}$$

$$\frac{1}{6} + \frac{2}{6} = \boxed{\phantom{00}}$$

$$\frac{4}{7} - \frac{2}{7} = \boxed{\phantom{00}}$$

$$\frac{7}{8} - \frac{1}{8} = \boxed{\phantom{00}}$$

$$\frac{3}{6} + \frac{2}{6} = \boxed{\phantom{00}}$$

$$\frac{2}{6} + \frac{4}{6} = \boxed{\phantom{00}}$$

$$\frac{2}{2} - \frac{1}{2} = \boxed{\phantom{00}}$$

$$\frac{5}{5} - \frac{3}{5} = \boxed{\phantom{00}}$$

$$\frac{3}{8} + \frac{1}{8} = \boxed{\phantom{00}}$$

$$\frac{2}{6} + \frac{2}{6} = \boxed{\phantom{00}}$$

$$\frac{8}{8} - \frac{3}{8} = \boxed{\phantom{00}}$$